WORK AUTHORIZATION CM3020 #02 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

Consultant/Vendor:TRP Construction Group, LLCContract Number:CM3020Contact Name:Robert C. TolleContact Number:321.332.1335Email:bucka@trpconstruciongroup.com

CURRENT WORK AUTHORIZATION Project Short Title: Roadway Striping				
		CONTRACT OVERVIEW		
Date Submitted	04/27/2023	Total of Previous Authorizations	\$87,446.40	
Amount	\$246,097.92	This Work Authorization	\$246.097.92	
Scheduled Completion	120 days from NTP	New Contract Amount including this work authorization	\$333,544.32	

This Work Authorization is to the AGREEMENT between Nassau County and TRP Construction Group, LLC ("Vendor") for Roadway Striping and Pavement Markings, dated October 11, 2021. The services to be provided under this Work Authorization are as follows:

ARTICLE 1. Services Described as:

Vendor shall provide roadway striping in accordance with the Bid Price Sheet, a copy of which is attached hereto as Exhibit "A".

ARTICLE 2. Time Schedule

Vendor anticipates their earliest starting date to be 15 days, from receipt of execution of this Work Authorization with an estimated duration of 120 days, to complete the Scope of Work.

ARTICLE 3. Budget

Vendor will perform the services outlined herein for the lump sum amount of \$246,097.92 Vendor's fee amounts are detailed further in Exhibit "A". Vendor will be using rates previously established under Contract CM3020.

ARTICLE 4. Other Provisions

The Services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments

(S-22-207

or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties.

Any Work Authorization entered into prior to expiration or termination set forth in the AGREEMENT shall continue in effect through the earlier of: (i) the date all of the Services thereunder have been fully completed and accepted by Nassau County, or (ii) until such time as such Work Authorization expires or is terminated in accordance with its terms or is terminated pursuant to Article 2 hereof.

In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this Work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY:	Robert C. Tolle
Print	Name: Robert C. Tolle
Title	Manager
Date:	57272023

RECOMMENDED AND APPROVED BY NASSAU COUNTY:

Department Head/Managing Agent:

Procurement:

Office of Management & Budget:

County Manager:

Ex-Officio Clerk:

County Attorney:

Lanan Kelmon	
cluris Lacambra 323	
Taco E. Pope, AICP	
Taco E. Pope, AICP	
*See below	

John A. Crawford Denise C. May

Doug Polla 8/2023

APPROVED by the BOARD OF COUNTY COMMISSIONERS, this <u>8th</u> day of <u>May</u>, 2023.

BOARD OF COUNTY COMMISSIONERS NASSAU COUNTY, FLORIDA

aj

5/3/2023

Klynt A. Farmer

Chairman

ACCOUNT NO.: 03461541-546550 L&O

ATTESTATION Only to Authenticity as to Chairman's Signature: John A. Crawford, Ex-Officio Clerk

Revised 11/17/2022

CM3020

DocuSign Envelope ID: A2C6A669-C558-4B8D-9231-914ABBC45272

BIO PRICE SHEET

Painted Pavement Markings: Bid Item No 1 through 35; Thermoplastic Pavement Markings: Bid Item No. 36 through 70; Other Miscellaneous Items: Bid Item No. 71 through 75

Item No.	Item Description	Unit	Unit Price	
	Painted Pavement Markings			
1	Pavement Marking, Solid, 4" White	LF	15.09	
2	Pavement Marking, Solid, 6" White	LF	5 . 18	
3	Pavement Marking, Solid, 12" White	LF	\$ 1.00	
4	Pavement Marking, Solid, 18" White	LF	\$ 1.50	
5	Pavement Marking, Solid, 24" White	LF	\$ 2.00	
6	Pavement Marking, Solid, 4" Yellow	LF	\$.05	
7	Pavement Marking, Solid, 6" Yellow	LF	\$.15	
8	Pavement Marking, Solid, 12" Yellow	LF	\$.65	
9	Pavement Marking, Solid, 18" Yellow	LF	\$ 1.15	
10	Pavement Marking, Solid, 24" Yellow	LF	\$.60	
11	Pavement Marking, Skip, 4" White	LF	\$.06	
12	Pavement Marking, Skip, 6" White	LF	\$ 12	
13	Pavement Marking, Skip, 4" Yellow	LF	5 .06	
14	Pavement Marking, Double, 4" Yellow	LF	5 .09	
15	Pavement Marking, Double, 6" Yellow	LF	\$.22	
16	Pavement Marking, Skip, 4" White/Black	GM	\$ 400.00	
17	Pavement Marking, Sklp, 6" White/Black	GM	\$ 100.00	
18	Pavement Marking, Skip, 4" Yellow	GM	\$ 175.00	
19	Pavement Marking, Skip, 6" Yellow	GM	\$ 400.DC	
	Pavement Marking, Solid, 4" White	NM	\$ 250.00	
21	Pavement Marking, Solid, 4" Yellow	NM	\$ 215.00	
22	Pavement Marking, Solid, 6" White	NM	\$ 800.00	
23	Pavement Marking, Solid, 6" Yellow	NM	S 800.00	
_	Message "STOP"	EA	\$ 70.00	
	Message "R/R"	EA	\$ 125.00	
	Message "ONLY"	EA	\$ 10.00	
27	Message "MERGE"	EA	\$ 10.00	
	Message "SCHOOL"	EA	\$ 100.00	
29	Message "YIELD"	EA	\$ 70.00	
	Message "DO NOT BLOCK"	EA	\$ 150.0	
	Arrow BIDIRECTIONAL	EA	\$ 80.00	
32	Arrow DIRECTIONAL Left/Right	EA	\$ 45.0	
33 /	Arrow DIRECTIONAL Straight	EA	\$ 45.00	
34 (Complete Handicap Parking Area	EA	\$ 150.0	
35 1	Removal of Existing Markings	SQ FT	\$.50	

DocuSign Envelope ID: A2C6A669-C558-4B8D-9231-914ABBC45272

BID PRICE SHEET

Painted Pavement Markings: Bid Item No. 1 through 35; Thermoplastic Pavement Markings: Bid Item No. 36 through 70; Other Miscellaneous Items: Bid Item No. 71 through 75

Item No.	Item Description	Unit	Unit Price		
	Thermoplastic Pavement Markings				
36	Pavement Marking, Solid, 4" White	LF	5 .40		
37	Pavement Marking, Solid, 6" White	LF	\$,55		
38	Pavement Marking, Solid, 12" White	LF	\$ 3.00		
39	Pavement Marking, Solid, 18" White	LF	\$ 4.00		
40	Pavement Marking, Solid, 24" White	LF	\$ 4.00		
41	Pavement Marking, Solid, 4" Yellow	LF	5 .40		
42	Pavement Marking, Solid, 6" Yellow	LF	\$.55		
43	Pavement Marking, Solid, 12" Yellow	LF	\$ 1.60		
44	Pavement Marking, Solid, 18" Yellow	LF	\$ 4.50		
45	Pavement Marking, Solid, 24" Yellow	LF	\$ 2.50		
	Pavement Marking, Skip, 4" White	LF	\$.26		
	Pavement Marking, Skip, 8" White	LF	\$.40		
	Pavement Marking, Skip, 4" Yellow	LF	\$.40		
	Pavement Marking, Double, 4" Yellow	LF	\$,55		
	Pavement Marking, Double, 6" Yellow	LF	\$ 1.25		
_	Pavement Marking, Skip, 4" White/Black	GM	\$ 1549.4		
	Pavement Marking, Skip, 6" White/Black	GM	\$ 3500.00		
	Pavement Marking, Skip, 4" Yellow	GM	\$ 530.00		
_	Pavement Marking, Skip, 6" Yellow	GM	\$ 950-00		
	Pavement Marking, Solid, 4" White	NM	5 1800.00		
	Pavement Marking, Solid, 4" Yellow	NM	5 1800.00		
	Pavement Marking, Solid, 6" White	NM	\$ 3200.00		
	Pavement Marking, Solid, 6" Yellow	NM	\$ 3200.00		
	Message "STOP"	EA	\$ 100.00		
_	Message "R/R"	EA	\$ 2.50 40		
	Message "ONLY"	EA	\$ 100.00		
	Aessage "MERGE"	EA	\$ 150.00		
	Aessage "SCHOOL"	EA	\$ 2.00.00		
	Aessage "YIELD"	EA	\$ 150.00		
_	Aessage "DO NOT BLOCK"	EA	\$ 2.50.00		
	MOW BIDIRECTIONAL	EA	\$ 140.00		
37 A	Arrow DIRECTIONAL Left/Right	EA	\$ 100.00		
38 A	Arrow DIRECTIONAL Straight	EA	\$ 90.00		
i9 0	complete Handicap Parking Area	EA	\$ 225.00		
	emoval of Existing Markings	SQ FT	\$.15		
	Other Miscellaneous Items				
_	PM Bi-Directional	EA	\$ 6.00		
	PM Mono-Directional	EA	\$ 6.00		

CM3020

DocuSign Envelope (D: A2C6A669-C558-4B8D-9231-914ABBC45272

BID PRICE SHEET

Painted Pavement Markings: Bid Item No. 1 through 35; Thermoplastic Pavement Markings: Bid Item No. 36 through 70; Other Miscellaneous Items: Bid Item No. 71 through 75

Item No.	Item Description	Unit	Unit Price	
73	Island Nose (Reflective Paint) White	SQ FT	\$ 5.00	
74	Island Nose (Reflective Paint) Yellow	SQ FT	\$ 5.00	
75	Reflective Pavement Marker Removal	EA	\$ 1.00	

"Reminder: This form must be submitted along with the bid. Failure to do so, may be cause for disqualification

The undersigned declares that they have examined the Notice to Bidders, Instructions to Bidders, and Specifications and is informed fully with regard to all terms and conditions pertaining thereto and agrees under these specifications at the prices set forth below.

Company:	TRP Construction Group,	LC
	2411 Minnis Drive	
City, State, Zip :	Haltom City, TX 76117	
	321-332-1335	Fax: 321-363-4395
Email:	buckae trp construction gr	oup. com
	·	1
Signature:	- C-	

Printed Name and Position: Robert C. Tolk

DocuSign Envelope ID: 4527D790-866B-45C1-BAEF-73C0398CE5C9



			QU	ANTITIES	PI	RICING
Line Item No.	Pay Item No.	Item Description	UM	Original Contract	Unit Price	Contract Value
	40	THERMO, SLD, 24" W	LF	1106.000	\$6.00	\$6,636.00
	57	THERMO, SLD, 6" W	NM	25.001	\$3,200.00	\$80,003.20
	58	THERMO, SLD, 6" Y	NM	3.159	\$3,200.00	\$10,108.80
	54	THERMO, SKIP, 6" Y	GM	3.580	\$950.00	\$3,401.00
	50	THERMO, SLD, 6" Y DOUBLE	LF	93,207.84	\$ 1.25	\$116,509.80
	67	ARROW, L/R	EA	52.000	\$100.00	\$5,200.00
	66	ARROW, BI DIRECTIONAL	EA	4.000	\$140.00	
	44	THERMO, SLD, 18" Y	LF	3497.760	\$4.50	\$15,739.92
	60	THERMO, MSG, RR (89SF)	EA	5.000	\$250.00	
	63	THERMO, MSG, SCHOOL (33SF)	EA	2.000	\$200.00	\$400.00
	71	RPM, BI DIRECT	EA	1046.000	\$6.00	\$6,276.00
	NAL WORK/CHAN	IGÉ ORDERS			The second second	(in the second se
	47	THERMO, SKIP, 6" W	LF	33.000	\$0.40	\$13.20

\$246,084.72 \$13.20 \$246,097.92 Original CO